
Little Fella Side Table - Round 
Assembly Instructions 

Resident Headquarters  
9c Exmouth Street 
Eden Terrace
Auckland
New Zealand
Ph: +64 9 601 9241
www.resident.co.nz Resident



Resident
Little Fella Side Table - Assembly Instructions 
Product Code: LFT001N 

Assembly Kit Contents:

 1 x Allen Key
 2 x Wooden Leg 
 1 x Wooden Body 
 1 x Wooden Top 
 1 x Metal Bracket 
 6 x Wooden Dowel 
 2 x M6 x 40 Screw 
 2 x M6 x 16 Screw  
1 x M6 x 20 Screw

Press two wooden dowels into the top of the wooden body. Screw the metal 
bracket into the top of the body using the M6 x 20 Screw.

• Ensure the middle hole on the metal bracket is the counter sunk side up.

2

• Press two wooden dowels into the holes of each leg.
• Screw each leg to the wooden body using the 2x M6 x 40 Screws.

1
• Flip the body and the wooden top upside down. Place the base so the metal

bracket lines up with the groove in the wooden top.
• Using the 2x M6 x 16 screws, screw the top onto the wooden base.

3

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval

Milan Bedwell-Keil
Oval



Little Fella Side Table - Square 
Assembly Instructions 

Resident Headquarters  
9c Exmouth Street 
Eden Terrace
Auckland
New Zealand
Ph: +64 9 601 9241
www.resident.co.nz Resident



Resident
Little Fella Side Table - Assembly Instructions 
Product Code: LFT002N 

Assembly Kit Contents:

 1 x Allen Key
 2 x Wooden Leg 
 1 x Wooden Body 
 1 x Wooden Top 
 1 x Metal Bracket 
 6 x Wooden Dowel 
 2 x M6 x 40 Screw 
 2 x M6 x 16 Screw  
1 x M6 x 20 Screw

Press two wooden dowels into the top of the wooden body. Screw the metal 
bracket into the top of the body using the M6 x 20 Screw.

• Ensure the middle hole on the metal bracket is the counter sunk side up.

2

• Press two wooden dowels into the holes of each leg.
• Screw each leg to the wooden body using the 2x M6 x 40 Screws.

1
• Flip the body and the wooden top upside down. Place the base so the metal

bracket lines up with the groove in the wooden top.
• Using the 2x M6 x 16 screws, screw the top onto the wooden base.

3



Little Fella Side Table - Double 
Assembly Instructions 

Resident Headquarters  
9c Exmouth Street 
Eden Terrace
Auckland
New Zealand
Ph: +64 9 601 9241
www.resident.co.nz Resident



Resident
Little Fella Side Table - Assembly Instructions 
Product Code: LFT003N 

Assembly Kit Contents:

 1 x Allen Key
 2 x Wooden Leg
 1 x Wooden Body
 1 x Wooden Top - Round 
 1 x Wooden Top - Square 
 2 x Metal Bracket
 8 x Wooden Dowel
 2 x M6 x 40 Screw
 4 x M6 x 16 Screw
 2 x M6 x 20 Screw

Press two wooden dowels into each of the top surfaces on the wooden body. Screw 
the metal brackets into each of the top surfaces on the body using the M6 x 20 
Screws.

• Ensure the middle hole on the metal bracket is the counter sunk side up.

2

• Press two wooden dowels into the holes of each leg.
• Screw each leg to the wooden body using the 2x M6 x 40 Screws.

1
• Flip the body and the wooden tops upside down. Place the base so the metal

brackets line up with the groove in the wooden top.
• Using the 4x M6 x 16 screws, screw the tops onto the wooden base.

3


